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 Δ𝑟 𝐺 = 6,6726 ⋅ 10−11 𝑁 ⋅ 𝑚2𝑘𝑔2  𝐹𝑔 = 𝐺 ⋅ 𝑀 ⋅ 𝑚𝑟2  

 𝐸𝑚𝑒𝑘 = 𝐸𝑝𝑜𝑡 + 𝐸𝑘𝑖𝑛 𝐸𝑘𝑖𝑛 = 12 ⋅ 𝑚 ⋅ 𝑣2 𝐸𝑝𝑜𝑡 =  ? 

 Δ𝑟 ≪ 𝑟     Δ𝑟 + 𝑟 ≈ 𝑟     𝐹𝑔 = 𝑘𝑜𝑛𝑠𝑡𝑎𝑛𝑡 

 𝐴𝑓𝑒𝑙𝑡 = −Δ𝐸𝑝𝑜𝑡     (𝑘𝑜𝑛𝑠𝑒𝑟𝑣𝑎𝑡𝑖𝑣 𝑘𝑟𝑎𝑓𝑡) 𝐴𝑓𝑒𝑙𝑡 = 𝐹⃗ ⋅ Δ𝑟⃗⃗⃗⃗⃗ = 𝐹 ⋅ Δ𝑟 ⋅ 𝑐𝑜𝑠(𝜃) 

                            =F⋅Δr⋅cos⁡(180) 
                            =−F⋅Δr 
                            =−G⋅(M⋅m)/r^2 ⋅Δr 
 −𝛥𝐸𝑝𝑜𝑡 =A_felt −Δ𝐸𝑝𝑜𝑡 = −𝐺 ⋅ 𝑀 ⋅ 𝑚𝑟2 ⋅ 𝛥𝑟 𝛥𝐸𝑝𝑜𝑡𝛥𝑟 = 𝐺 ⋅ 𝑀 ⋅ 𝑚𝑟2  Δ𝑟 → 0 

E_𝑝𝑜𝑡^′(𝑟) = 𝐺 ⋅ 𝑀⋅𝑚𝑟2  

E_po𝑡(𝑟) = −𝐺 ⋅ 𝑀⋅𝑚𝑟 + 𝑘 

E_pot(∞) = −𝐺 ⋅ 𝑀⋅𝑚∞ + 𝑘 

k=0 𝐸𝑝𝑜𝑡(r)= −𝐺 ⋅ 𝑀⋅𝑚𝑟  

  

  

  

  

  



   

  

  

  

  

  

  

  

  

  

  

 


